AV =2,/7/3v1
yl)—z\/TYll—i—z\/TYl _1
A(l) \/TY11+\/TY1 -1
éi’f (4/3)\/7/5Ya,0
—z\/mYmHWYz ]
yy :_W}QQ_ (2/3) FYVQO_WY? -2
= —/27/15Y5 1 + /27/15Y5 _1
1y Z—ZWYQQ-FZWYQ _9
& = V2n/15Y20 — (2/3)y/7/BYa0 + /27 [15Ys o
,(z3z)z = (4/5)\/7/TY30
A = (4i/5)\/7 /2151 + (4i/5)\/7 /215
yyz:_\/my32_2/5\/7y}>0_\/my3 -2
yyy:_z\/WYSB_ /5 \/FYM_ /5 \/FY3 1_2\/WY3 -3
. = —(4/5)\/7[21Ys 1 + (4/5)\/7/21Y5
AG). = —i\/27/105Y3 2 + i/27/105Y; _s
Aé?y—wr/TY33+ (1/5)y/m/21Y5 1 — (1/5)y/7[21Ys 1 — \/7/35Y5 3
mz—\/miﬁz—2/5\/7y3o+\/mys —2
z:vy—l\/my33_ (i/5)\/7/21Y31 — (i/5)\/7/21Y3 1 +1i+/7/35Y3 3
;caca:— \/WYSS‘F 1/5\/?%,1_1/5\/WY73 1+\/WYE’)3
AW, = (16/105) /7 Y40
A = (40/21)\/m/BY41 + (4i/21)\/7/5Y4 1
Aéy’zz = —(2/21)/27/5Y42 — (8/105)\/TYa0 — (2/21)\/27 /54 _2
A= = —(i/3)\/7[35Ya5—(i/T)\/7[5Ya1—(i/T)\/7[5Ys,-1—(i/3)/7[35Ya 3
Al = (1/3)\/27/35Y4 4+(2/21) /21 /5Y 5+ (2/35) /T Y3 0+ (2/21) /27 [5Y4, o+
1/3 IN2m/35Y4, 4
ALY = —(4/21)\/7 /541 + (4/21)\/7[5Y4 1
A8 = —(2i/21)\/27/5Y45 + (2i/21)\/27/5Y4 s
O . = (1/3)\/7/35Yas+(1/21) /7 /5Ya1—(1/21)\/7/5Ys_1—(1/3)\/7/35Y4_3
Ay = (1/3)\/27[35Y, 4+(i/21) /27 [5Yy o — (i/21)\ /27 [BYs, _o—(i/3) /27 /35Y4 _4
;?Zﬁ(z/zl V2 [5Ya2 — (8/105)y/mYap + (2/21)/27 /5y 2
A, = (i/3)\/7/35Y 15— (i/21)\/7[5Y 41— (i/21)\/7 [5Ys, _1+(i/3)\/7/35Y4 3
A, = —(1/3)\/27/35Y44 + (2/105)/7V40 — (1/3)\/27/35Y; 4
imz (1/3)\/7/35Y15+(1/T) /T /5Y11—(1/T)\/7/5Y1,-1+(1/3)\/7/35Y4, _
ey = —(i/3)\/27[35Y, 4+(1/21) /27 [5Y4 o — (i/21)\/27 [BYs, _o+(i/3) /27 /35Y4 _4
e = (1/3)\/27/35Y44—(2/21)\/27 /5, 2+(2/35) /74 0— (2/21) /27 [5Y4 o+
(1/3)\/27m/35Y4, 4



